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FRZHNOA.5IZE®.Q

Aa—2RA

D8x2 =6x
@x2—x=2
@x2+x=x+49
@®x2+464=16x
®x2 —x+20=28x
®x2=3x+54
(D40x2 —60x=4x2 — 25
®3x2 + 35x=2x— 72
©25x2 —5=9x2—4
10x2 —2x=235
@Mx2=—10x—16
@2x2 —x—15=x2+15
@x2 —15x+5=>5—4x

@x2+3x—14=2+43x

@x+6)(x—6)—T7(x—1)=1

@2x2—(x—1)(x+6)=0

H4x24+10x=3x2 —Tx—T72

@((x—2)2=(2x—3)(x+1)—3

B6x+ (x—4)(x+2)=4

FRZHNOASEIZE®.Q)
B=z2—XA

Dx(x+6)=2x+5
@ (x+4) (x—4) =6x
@(x—5) (x+3)+12=0

@ (4x+3) (x—1)=6—x
®(x—7)2—9=2(10—x)

®(x+2)(x+3)=2(x+17)

@Dx(x+6)="17
®4x(x+1)+1=0
@(x—3)(x—5)=3
@ (x+8) (x+10) =4x+ 35

MDE+1)2+ (x+2)2= (x+3)?2




